Advanced Programming
Andrew P. Black & Tim Sheard

Where did all the time go!

First make it right, then make it fast.
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How long does it take?

e several methods on blocks let you find out
how long the block takes to execute

» [data detectMax: [ :each | each ] ] timeToR
7/

un

(44

» [data detectMax: [ :each | each | ] durationToR
= (0:00:00:00.007

» [data detectMax: [ :each | each ] ] bench
> '153.78 per second.

un

(A4
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Why did it take so long?

e TimeProfileBrowser is your friend

» probabalistic sampling of pc (roughly once per ms)

e Really easy to use:

 TimeProfileBrowser onBlock: [ <your code here> |

e Let's use it on some examples:

> TimeProfileBrowser onBlock:
[String streamContents:
[ :str | data do: [ : each | str print: each; space ]]]
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* B Time Profile
- 20 tallies, £1 m=ec,

**TTEE**
T0.0% {15ms} WriteStream (Stream eprint
|70.0% {15ms} SmalllntegeriNumtbter printOn;
| 70.0% {15mz} Smalllnteger(Integer kprintOn:base;
|  70.0% {15ms} Smalllnteger(Inteser kprintStringBase;
| 25,0% {5mz} primitives
| 15.0% {3ms} WriteStream:»contents
| |5.0% {lmz} Smalllnteger(Magnitiade -max:
| |5.0% {lmz} BvteStringiSequenceableCollection s copvwErom:to;
| | 15.0% {1ms} ByvteString clazziString clazsnew:
| |5.0% {lmz} primitives
| 15.0% {3mz} WriteStream clazz{PozitiohatleStream <lassiromn:
| 10,0% {Zmz} Character clazs:digitWalue:
| 5.0% {1ms} String clazziArravedCollection clagsnew
I 5.0% f1ms} String clagsnew:

fi0 timesStamp - ifistance areation - 4 implemenitors - i fio change zet -

browze zendets implemetitors versions inhetitatice hieratrchy inzt vars clazs wars | prettvPrint

digit¥alue: »
“driewer the Chiaracter wlhase Sigit value is k. Far erample. atewer 9 for
=0 IO for p=0 F4 For e=10. IF for x=35."

frrasx
irpdex = x azltiteger,
+CharacterTable at:
(irvder < 10
ifTrue: [48 + irdsxr]
ifFalze: [55 + imdex])

+ 1

20 tallies: barely enough samples to be valid
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» Let’s try:

» TimeProfileBrowser onBlock:
[[String streamContents:
[ :str | data do: [ : each | str print: each; space ]]]
bench]

» [ <code > ] bench does 5 seconds’-worth of
computation (or 1 iteration)

Portland State >

IIIIIIIIII



-
% B Time Profile

- 4931 tallies., 5010 mzeec,

a7, 1% {4364ms} WriteStream (Stream print:
|54.6% {4238ms} Smalllnteger{Number m»printdn;

[8z2.9% {4153ms} Smalllhteger(Integer print0n: base;

8. 7% {3943ms} Smalllnteger(Integer printStringBase;
[17.0% {852ms} WriteStream:>nextPut:
| 13.8% {441ms} WriteStream:»paztEndPut:
| | |2.9% {145mz} BvieString clazs(String clasznew:
| | [2.1% {105mz} primitives
| 14.5% {225%ms} Characters-iz0ctetCharacter
| 13.7% {185ms} primitives
[16.0% {802ms} WriteStream <lazzi{PozitioniatleStream classizromn:
| [11,9% {59mz} WriteStream:ot;

md 27242006 1950 - private - 5 implemenitors - in no change zet -

& O

broweze | senders || implementors || verzions || inheritatice | hietrarchy | st vars

clazs vars

0rce

pastEndPut: anlbiect
“arows the oollecticin by crestitis & riew bigger oallecticn siid thist
Sop Y atver the corterrts From the old e, e gsrow by doubling the sise
but the srowth £ Kept betwest: 20 snd 1000000,
Firtglly we put <aialbfect: at the current write positicarn.”

| aldSizs srowlollestio |
aldsize = collecton zize,

writeLimit = collection zize,

collection at: (position := position + 1) put anfbisct,
et the sargumerit - sadded by kil

+ arilbfest

srawnlallastion = collection clazz new: oldifize + ((aldSize max: 200 min: 10000007,
collection. = srowrlallestian replacelfrom: 1 to) cldsize with: collectHon startingat: 1,
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